
catalogue number: 530132

HDN Bumper  
Mounting instructions

for Isuzu D-Max 2012-18



2

19,24

Hex bolt 
M12x1.25x35

Hex bolt 
M12x1.75x30

Hex bolt 
M12x1.75x40

Hex nut nylock 
M12x1.75

Hex nut nylock 
5-8

x2x6 x6 x2x6

x10

A

17,19,24

G1

J1H5 J2 K

G2

Hex bolt 
5-8x50

x4

B1

F

B2

C

D

H1 H2 H3 H4

Washer 12x24Philips head cap 
screw M5-35

Washer 5-8 Spring washer 12

x22x3 x4

A1

E



3

17

C

On both sides of the vehicle

On both sides of the vehicleUnclip on both sides of the vehicle

1

3

5 6

2

4



4

1919

19

19

On both sides of the vehicle

Clip back on both sides of the vehicle

On both sides of the vehicle

B1

B2

B1

B2H2

K

J1

H2

K
J1

H3

K

H3
K

Connect the power cord to the connector according to the 
drawing on page 6

9 8

1211

7 8



5

AE

A1

Tighten all boltsTighten before each use

H5

24

EFH4 J2

J2
G2

19,24

15 16

  1817

13 14



6

AA

B
B

13 65

Or
ig

in
al

 S
oc

ke
t o

f V
eh

icl
e

2

4

SE
C

TIO
N

 A
-A

 
SC

A
LE

 2
 : 

1 W
hi

te
Gr

ey
Ye

llo
w

Br
ow

n

Re
d

Br
ow

n 
w

ith
 re

d 
st

rip

Gr
ee

n

Bl
ac

k 
w

ith
 re

d 
st

rip

SE
C

TIO
N

 B
-B

 
SC

A
LE

 1
 : 

1.
5

8 7 6 54

2
3

1

N
Di

re
ct

io
ns

 C
ol

ou
rs

 o
f 

th
e 

Ca
bl

e 
of

 
Bi

nd
in

g 
Ki

t 

Ca
bl

e 
Co

lo
ur

s 
of

 
th

e 
 C

ar
1

 B
LI

NK
IN

G 
LE

FT
Ye

llo
w

Ye
llo

w
2

 F
OG

Gr
ey

Gr
ey

3
M

IN
US

W
hi

te
Bl

ac
k

4
 B

LI
NK

IN
G 

RI
GH

T
Gr

ee
n

Gr
ee

n
5

 P
AR

KI
NG

 
RI

GH
T

Br
ow

n
Br

ow
n

6
ST

OP
Re

d
Re

d

7
 P

AR
KI

NG
 L

EF
T

Br
ow

n 
w

ith
 

re
d 

st
rip

Br
ow

n 
w

ith
 

re
d 

st
rip

8
RE

VE
RS

E
Bl

ac
k 

w
ith

 re
d 

st
rip

Bl
ac

k 
w

ith
 re

d 
st

rip

NO
CA

TA
LO

GU
E 

NU
M

BE
R

DE
SC

RI
PT

IO
N

QT
Y

1
75

00
El

ec
tri

c 
So

ck
et

 1
3 

pi
ns

1
2

10
49

6
Ca

bl
e 

Bi
nd

in
g 

Ki
t /

Ca
bl

e 
le

ng
th

 6
50

m
m

/
1

3
10

06
Ph

illi
ps

 H
ea

d 
Ca

p 
Sc

re
w

s 
M

5x
35

3
4

30
00

 
He

x 
nu

t M
5 

 D
IN

 9
34

3
5

60
31

W
as

he
r 5

x1
0

3
6

60
04

Sp
rin

g 
w

as
he

r 5
 D

IN
 1

27
3

C
on

fi
de

nt
ia

l  
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
A

ll 
ri

gh
ts

 in
 a

nd
 to

 th
is

 d
oc

um
en

t a
re

 p
ro

pe
rt

y 
of

 A
SF

IR
 L

td
.a

nd
 re

se
rv

ed
 to

 it
. 

T
hi

s 
do

cu
m

en
t i

s 
fo

rw
ar

de
d 

to
 th

e 
re

ci
pi

en
t u

nd
er

 th
e 

co
nd

iti
on

 o
f a

nd
 s

ub
je

ct
   

to
 th

e 
ob

lig
at

io
n 

of
 th

e 
re

ci
pi

en
t t

o 
ke

ep
 th

e 
co

nf
id

en
tia

lit
y 

of
 it

s 
co

nt
en

ts
.  

   
   

C
op

yi
ng

, t
ra

ns
fe

r o
r d

is
tr

ib
ut

io
n 

of
 th

is
 d

oc
um

en
t o

r i
ts

 c
on

te
nt

s 
an

d 
th

e 
us

e 
   

   
of

 it
 n

ot
 fo

r t
he

 p
ur

po
se

 in
te

nd
ed

-a
re

 s
tr

ic
tly

 fo
rb

id
de

n.
   

   
   

   
   

   
   

   
   

   
   

  

W
:\

so
lid

 w
or

ks
\A

UT
O

-M
O

D
EL

S\
IS

UZ
U\

D
-M

ax
 2

01
2-

20
16

\I
SW

51
 B

um
pe

r H
D

 5
30

11
7-

(5
30

11
3)

\


